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Linear Systems - Graphing

When 2 or more equations are used to model a problem, it is called a ______________   ___     

___________________.   A system of linear equations is simply 2 or more lines intersecting 

__________, __________, or _________________. A linear system with two unknowns 
consists of 2 (or more) _________ _____________ involving 2 variables. 
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Example: YOU vs. HORSE
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It’s a race!

You can run 0.2km every minute. The horse can run 0.5km every minute. But it takes 6 minutes to saddle the horse.

How far can you get before the horse catches you?

We can make two equations (d = distance in km, t = time in minutes):


You:
d = 0.2t


The Horse: 
d= 0.5(t – 6)

So we have a system of equations, and they are linear: 
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It seems you get caught after 10minutes…you only got 2km away.
Run faster next time.

Horse example: Adapted from www.mathisfun.com

An example of a linear system is:
2x + 3y = 8  (
             

5x – 2y = 1  (
A solution to a linear system is an __________ ________, __________,  that satisfies all the 

equations in the system.  

If there is a single solution to the linear system, it is represented by the 

___________ ___ ___________________ of the 2 lines. 

There are several methods to solve linear systems: _______________, 

_______________, ______________________, and _____________________.

Method 1: Guess and Check


To determine whether a point (x, y) is a solution to a linear system using this method, the x and y 

values must be substituted into the left and right sides of both equations. If __________ for 
both equations, then (x, y) is a solution.

Ex. Determine whether (1,2) is a solution to the linear system above.

Method 2: Graphing


To determine the solution to a linear system using this method, both lines are graphed and the 
solution is the point of intersection (x, y) of the two lines. Solutions found using this method 
must be checked by substituting the x and y values into the left and right sides of both original 
equations.

Ex. Find the solution to the linear system below by graphing.

          y = 3x + 1  
(
                      6x + 3y = -12 
(
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	


The point of intersection is: (     ,      )





Equation 1                      Equation 2


LS =       RS =                 LS =                RS = 





Check solution in left and right sides of both equations:
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